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2CB-T6.3/2.1 8 400/900 3000 0.385 0.13
2CB-T6.3/3.0 8.5 400/900 3000 0.385 0.183
2CB-T6.3/36 9 400/900 3000 0.385 0.220
2CB-T8.8/2.1 10 400/900 3000 0.537 0.13
2CB-T8.8/3.0 10.5 400/900 3000 0.537 0.183
2CB-T8.8/36 11 400/900 3000 0.537 0.220 3600 1IN PIPE 172 NPT
2CB-T8.8/4.2 1.5 400/900 3000 0.537 0.256
2CB-T10.9/2.1 12 400/900 3000 0.665 0.13
2CB-T10.9/3.0 12.5 400/900 3000 0.665 0.183
2CB-T10.9/36 13 400/900 3000 0.665 0.220
2CB-T10.9/4.2 13.5 400/900 3000 0.665 0.256
2CB-T13.0/42 16 400/900 3000 0.793 0.265
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2CB-T6.3/2.1 6.07 3.74 241 | 2CB-T8.8/3.0 6.54 408 | 274 2CB-T10.9/3.0 690 | 453 3.04
2CB-T6.330 | 621 3.90 241 | 2CB-T8.8/36 6.61 4.24 2.74 2CB-T10.9/3.6 700 | 453 3.04
2CB-T6.336 | 628 3.90 274 | 2CB-T8.8/4.2 6.70 4.24 2.74 2CB-T10.9/4.2 709 | 453 3.04
2CB-T8.8/2.1 6.41 4.08 274 | 2CB-T1092.1 | 6.70 437 3.04 2CB-T13.0/4.2 6.70 | 4.37 3.04
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